CTION

MSTR

CTION

STRU

CON




Variants

Model Information

Serial Number ranges

Production Dates

Part #

85811908

85804275

85804276

15541424

85801585

85804733

11112431

11198673

85802618

16105021

85804315

85803991

11190774

Part Name Description

TRANSMISSION -
SUPPORT R.H.
SUPPORT L.H.

SCREW Hex, M12 x 1.25 x -
80mm, CI 8.8

SEALING WASHER I3mm ID x -
65mm OD x 5mm Thk

ISOLATOR 60mm OD x 55.8mm -
L

BOLT Hex, M12 x 30mm, CI 10.9,-
Full Thd

LOCK WASHER [3mm ID x MI12
24mm OD x 0.6mm Thk

SEALING WASHER I3mm ID x -

4Imm OD x 3mm Thk

LOCK NUT MI2x 1.25,CI 10 -

SCREW 3/8"-24 x 2-1/2"

STUD 1/2"-M12X1,75

BELLEVILLE WASHER MI2 Bolt -
Size x 24mm OD x 2.8mm Thk

CONSTRUCTION

Qty



14

15

Part #

85802684

85817437

Part Name

NUT

CABLE TIE

Description

2"

CONSTRUCTION

Qty



